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Simmran CThauham 23 hours ago 2 subs

Homewwvork answeer is none follows
Thank yvou so much for this amazing session
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Atigya Garg 12 hours ago 2 subscribers
Homewwork ans is : nones fallows_ _

Thank you amazing session
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Miharika Jha 1 day ago

Thank you sir for thie session 5
Homework answer NOME FOLLOW

& ka saare guestion=s

Sir ho sake 1o mock rkhivega mext week .
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monika kumari 6 hours ago

Both wong

Sir thank you

Thiz =e=szion is very nice & &

Zur hum apki class daily latay but record latay kukie hamari MIC class hoti hai , sir aap bahut achha padhaate Ho

dh 5P  REPLY B
+ 1 REPLY

Vardana Chhatri 1 day ago
Homework answer=none
thank you sir for the session .,
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Puskan Rai 1 day ageo
ANswWer = none
thank u sir for wonderfull session
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Sir last guestion jo ineguality ka hai definite false ka.. usme question m pucha th ki definitely false konsa h.. agr v expression definitely true hai toh us according answer
option d hona chahiye.. ek baar Monday ko please vo gquestion discuss kr lena.. ..
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Keka Maiti 10 hours ago
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Syllogism —

Direction: Study the following arrangement carefully & answer

the following questions:

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.
(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.



Statements:

211;11)\7/[ atfew pinll){. all;e public. gw e uferR &
AlMeroare City. TR fd

Conclusion et ﬁ@ Rtz

I: All Public can never be TRy

Pink. IWWWWT@-@
II: All City are Pink. Gehd|
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Statements:

Only a few pink are public.
All Metro are Pink.

All Metro are City.

Conclusion 4
aS R hO
I: All Public can-never-be Pink. X

II: All City are Pink. X @




Statements:

Few Bro is Sis.

Only a few Wife is Son.
No Son is Sis.
Conclusion:

I: Some Wife being Sis is a
possibility.

II: All Bro being Sis is a possibility.
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Statements:
Few Bro is Sis.

Only a few Wife is Son.

No Son is Sis.

Conclusion:
I: Some Wife being Sis is a possibility. /
I1: All Bro being Sis is a possibility.



Statements: FIT-

No Abhi is Swati. ﬁé 3#3\1 5 “ra :l'éﬁ %|
Only a few Manali is Alpa. e T FD Tt 3TeaT §|
All Alpa is Abhi. .
Conclusion: &l 37T A %l

I: Some Manali is Swati. ]Q-I'EFGF; -

II: No Manali is Swati. L SWIIT-I'IFﬁ sl %

I1: 3hIg AT TTHd &1 2



Statements:
No Abhi is Swati.
Only a few Manali is Alpa.

All Alpa is Abhi. W"

Conclusion:

: Som Manali is Swati. )(
VIanali is Swati. X > Cr7ha, &N




Statements:

Some School are College.

Only a few College are University.

No University is Office.
Conclusions:

All College being University is a
possibility.

Some College are not Office.
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Statements:

Some School are College.

Only a few College are University.
No University is Office.
Conclusions:

All College being University is a possibility. ><
Some College are not Office. </




hY:
Statements: s ST ﬁ:p:ﬁ%
O
Some Swati are Simi. a\ a Y
hId S HIFA TG B
Only a few Komal are Simi. gofY Oh\l e H\I T %l
All Komal are Sonal. ﬁ i
Conclusions: R .
o Tt o e g9
All Simi being Komal is a possibility.
T B

Some Sonal are Swati.
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Statements:
Some Swati are Simi.
Only a few Komal are Simi.

All Komal are Sonal.

Conclusions:
All Simi being Komal is a possibility. /
Some Sonal are Swati. X~



Statements: EXOEK
Only a few School are College. ha SERESTS TS §|
Only a few College are University. o E FlS] qﬁaﬁ?ﬁ@
No University is Office.

Fré Afraftid sfra T8 3
Conclusions: ]Q-IEFGF

Some School can be University.
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Some College can be Office.




Statements:

Only a few School are College.
Only a few College are University. <[ Q
No University is Office.
Conclusions:

Some School can be University. /

Some College can be Office. g @




Statements:

Only Abhi is Alpa.

Only a few Abhi is Ruchi.

Few Ruchi is Ram.
Conclusion:

I: Some Alpa is Ram.
II: Some Ruchi is Abhi.
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Statements:

Only Abhi is Alpa.

/

Only a few Abhi is Ruchi.

Few Ruchi is Ram.

Conclusion:
I: Some Alpa is Ram.
I1: Some Ruchi is Abhi. |



Statements:

Some Clock are Time.

Only a few Time is Watch.

No Watch is Clock.
Conclusions:

All Watch being Time is a
possibility.

All Time are Watch is a
possibility.
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Statements:

Some Clock are Time.
Only a few Time is Watch.
No Watch is Clock.

Conclusions:

All Watch being Time is a/

possibility.
All Time are Watch is a possibility. %
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Statements: FUT:

All Reebok are Raymond. ot O Ohslrl'gél

Some Raymond are Puma.
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Only a few Puma are Titan. ~ :
Shalol hed IHT 212 &l

Conclusions: : i\’ °\

Some Titan can never be Reebok. '

Some Titan can be Reebok. gw elize ohaﬁ el qﬁg}
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Statements:
All Reebok are Raymond.
Some Raymond are Puma.
Only a few Puma are Titan.
Conclusions:
RANAL reT™
Some Titan eannever-be Reebok.

Some Titan can be Reebok. _—



Statements:

Only a few Book are Paper.
No Paper are Pen.
Conclusion:

I: Some Book are Pen.

I1: All Book cannever be Pen.
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Statements:

Only a few Book are Paper.
No Paper are Pen.
Conclusion:

I: Some Book are Pen.

I1: All Book canneverbe Pen




Statements:

Only Book are Pencil.
No Book are Cat.
Conclusion:

I: Some Book are Cat.

I1: Some Pencil can be Cat.
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Statements:

Only Book are Pencil.
No Book are Cat.
Conclusion:

I: Some Book are Cat.

I1: Some Pencil can be Cat. )<




Statements:

Only a few classroom are smart .
Some smart are music.
Conclusion:

I Some classroom are music .

IT No music is classroom .
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Statements:
Only a few classroom are smart .
Some smart are music.
Conclusion:

Some ¢lassroom are music . <

II No phusic is classroom . ><



Statements: FHI-

Only a few blue is purple. ;b JA FD oA qd'c_'f%

All purple is black. maft tfé?‘f @C—;.— %

Some black is pink. . a
FS Scioh Ueh ®.

Conclusions: E : ®

All black is blue is a possibility.
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Some purple is pink.



Statements:

Only a few blue is purple.
All purple is black.

Some black is pink.
Conclusions:

All black is blue is a possibility.
Some purple is pink. )Q



Statements:

Some steam are cloud.
Only a few cloud is liquid.
All liquid are bottle.
Conclusions:

All liquid are steam.

At least some bottle are cloud.

Some bottle being steam is a
possibility.
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Statements:
Some steam are cloud.
Only a few cloud is liquid. e’g(.

All liquid are bottle.

Conclusions:

All liquid are steam. %

At least some bottle are cloud. /
Some bottle being steam is a possibility. /



Statements:

All rain are water.

Some water is nature.
No nature is bad.
Conclusions:

At least some bad is rain.

Few nature being rain is a
possibility.

No bad is water.
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Statements:

All rain are water.

Some water is nature. /

No nature is bad. a
Conclusions: J(

At least some bad is rain. ><

Few nature being rain is a possibility. /
No bad is water. X~



Statements: FHIT:

All tomato are milk. mﬁ ;

Only a few milk is pure - _q:a %l
| TOATLED

All Coffee are Milk.

a+fl T 3Ur &)

e

Only Milk is tomato is a @'@ ’ :{I;.,g\’ % ‘
Possibility. shelcl G4 o THTCL B shl HHTSHT 2
All pure is milk is a possibility. 4T & %+ Z‘E\%I HEEIRCICEIR

Conclusions:

Few Coffee are pure.




Statements:
All tomato are milk.

Only a few milk is pure.

All Coffee are Milk.

Conclusions:

Few Coffee are pure. )< g o .
.Mllk is tomato is a pOSSlbllE}/

All pure is milk is a possibility. ) !
”/



Statements:

All mango are orange.

Only a few orange is banana.

some banana are apples.
Conclusions:

Some apples are not orange.
All banana are mango.

All orange are banana is a
possibility.
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Statements:

All mango are orange.

Only a few orange is banana.
some banana are apples.

Conclusions:

Some apples are not orange. >(
All banana are mango. >/
All orange are banana is a possibility. 7/



Statements:

All waste is box.

Some box is oval.

No oval is an green
Conclusions:

Only a few waste is oval.

Some green being box is a
possibility.
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Statements:

All waste is box.

Some box is oval.

No oval is an green
Conclusions: S0 TS
-~

Only a few waste is oval.

A~ /
Some green being box is a possibility.
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Statements:

Only a few mails are gmail.

Some gmail are google.
Conclusion
Some mail are google .

No google is mail .
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Statements:

Only a few mails are gmail.
Some gmail are google.
Conclusion

ail are google . >{

soogle is mail . }< ()/'




Statements: EXEE
All Duck is Bird. afieraS 2.
All Bird is Sparrow. ot 9 WQ 2.

Only a few Crow are Sparrow.  Fac] &3 shl LU 2l
O

Conclusions: ]QFI“F‘SIQ

All Crow are Bird. ot shl o %I
Some Duck are Sparrow. $O S ‘v‘aﬁ%




Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird. D( /

Some Duck are Sparrow.
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Point to Remember

Statements:
All A are B .
Some B are C.
No B are D.

Conclusion :

I. Some A are C.
II. Some B are D.
III. No B are C.
IV. All B can be D.
V. All B can be A.
VI. All D are C.

DOES NO
hH: FOLLO

DEFINITELY
DOES NOT
FOLLOW

@i A, B 2
FO B, Cd

—

75 B, D el 8

g
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Iv. @t B, D 8 ¥hd &
V. Tt B, A ghd =l
V. @fiD, C%




Point to Remember
(o ¢ Gnb R X DF
Sta ents:

All A are B.
Some B are C . : D

No B are D. b’
° \ )
Conclusion : DOES NOT FOLLOW |( DEFINITELY DOES
- C
I. Some A are C. NOT FOLLOW

D
II. Some B are D. @ D
@B

III. No B are C. :7)

/
2
IV. All B canbe D. ( F) %
V. AllBeanbe A (T) :l{ 1

VI. All D are C. @




@ In the following question, a set of four statements is followed by five conclusions, one of which

DEFINITELY DOES NOT FOLLOW (or is not a possibility of occurrence). Choose that

conclusion as the answer.

Statements: (.o
Some green are red / S eI RS g
No yellow 1s orange. / T3 et T =1 2 e

. (o WA NI N\¢
Some pink are green / e TeTsll gL H

All red 1s yellow. / Tt ATt Ui . @

A) Some pink are red / S gcflldﬁl N @

B) Some green are yellow. / 3 g dier @
C) All red being orange 1s a possibility / Tt AT oh AT B4 Sl T9TEAT © @

T4
D) All yellow being red is a possibility / ¥t F1elT o Tt B ehl THTEAT & @

E) No green is red / %13 & ol T8l & @




Statements:

Some good are tax
Some rate 1s deal
All tax 1s less.

No less 1s rate.

A) Some good are not rate
B) No tax is rate

C) Some less are deal

D) Some good are rate

E) All deal being less is a possibility

b
FS TS o &
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e 2T T 2|
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Statements:

Some good are tax
Some rate 1s deal
All tax 1s less.

No less 1s rate.

A) Some good are not rate @
B) No tax is rate &)
C) Some less are deal @

D) Some good are rate ( F 5
E) All deal being less is a possibility




Statements:

No night 1s day.
All night 1s noon
No evening is summer.

Some evening 1s noon.

A) All day being noon 1s a possibility
B) Some night are evening

C) All night are summer is a possibility
D) All noon are summer is a possibility
E) Some noon are day

F) No noon 1s evening .

ALK
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Statements:

No night 1s day.
All night 1s noon
No evening is summer.

Some evening 1s noon.

A) All day being noon 1s a possibility T

B) Some night are evening O

C) All night are summer 1s a possibility
_P) All noon are summer is a possibility

E) Some noon are day @

F) No noon is evening . @

2, O



Statements: I

No tea 1s sugar. F1 =7 = T 2

No milk 1s tea. Elolé‘q;‘él T T 2

Conclusi el
onclusions: - N

A) No sugar 1s milk. ﬁé‘{)ﬂﬂ e T

B) All milk is sugar. L &t fres I e,

o S o i coffon [Il. % = o I T hl HHTEHT 2
) Some tea 1s coffee is a V. 7w TN

possibility .

D) Some tea 1s coffee .



@ Statements:
No tea 1s sugar.
No milk is tea. T - @
Conclusions:
A) No sugar is milk. @ @
B) All milk is sugar. (F) Do)
C) Some tea 1s coffee is a ,M
possibility . @

DYSomei|tea 1s coffee . O
Q‘I‘eo\ 0 <@€€‘U > QX’H\Q/\ %{\




Statements: Y-

Some bowls are plates. FS A8 Te 2
O
No plate is a glass. TS T T 2l 2|
foreep:
Conclusions: : a
S T A3 el @l

\

A) Some glasses are not bowl.

I O 9 & 913 814 ohl G9TaHT 2l
“\ 0\

B) All glasses being bowl is a N - ‘
1. i q=eA & T B Shl AT 2

possibility.

C) All bowl being glasses 1s a
possibility .



Statements:

Some bowls are plates.

No plate 1s a glass. czp
Conclusions:

A) Some glasses are not bowl. @
B) All glasses being bowl is a

possibility. ~ (T)
%ll bowl being glasses is a

possibility . @



Ii Statements: hY-:

All sofas are beds. Tt W él@ %I

No bed 1s a couch. Oh\lig IS FI3T qﬁ%

Conclusions: '

N s
I. At least some couches are beds. 1. EI'TE[ﬁ DH DY hlSH SIS %|

I1. No sofa is a couch. I1. ﬁ_sc HI%T 9% 21 2|




Statements:
All sofas are beds.

No bed 1s a couch.

Conclusions:

I. At least some couches are beds. ){’

II. No sofa is a couch. ~~



Statements: h¥:
All flowers are plants. T F qrer 2
No plant 1s an stem. aﬁétﬁ‘m a1 21 2|
All stems are fruits. ol T4 B 2
| et
Conclusions: I guf eIt F ;@ﬁaﬁaﬂm

I. All flowers being fruits 1s a

2
1. |t &H % Gt B 6l GHTEAT &

possibility.

II. All stems being flower 1s a

possibility.
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Statements: Blosd. Mﬂfvm

All flowers are plants.

No plant is an stem. @ (Roa0rF

All stems are fruits. ( b m/k»y‘/
}0/\1 Himd (M [2)

G-

(e (T

Conclusions:

I. All flowers being fruits 1s a
possibility.

II. All stems being flower 1s a

possibility.



